1290 SUPERDUKE R S.E. ABS 16 <2016><US><F9975P0>
LIGHTING SYSTEM

Pos Part Number Description Additional Text Quantity
1 61314001000 HEAD LIGHT 1.00
2 78114025000 FLASHER CPL.FRONT L/S REAR R/S 2.00
3 78114026000 FLASHER CPL.FRONT R/S REAR L/S 2.00
4 61014030000 FLASHER NUT M10X1,25 WS=12 2.00
5 58414030000 HH COLLAR NUT M10X1,25 WS=13 MINI ADV. 2.00
6 0797100003 LOCK WASHER DIN6797-J10,5 ZI 2.00
7 0433100003 Washer DIN0433-M10 front flasher 2.00
8 6130800300028A MASK SPOILER LEFT 1.00

49226



9 6130800400028A MASK SPOILER RIGHT 1.00
10 57111038000 BULB H4 12V 60/55W (P43T) USA 1.00
11 61314001050 RUBBER CAP FOR HEAD LIGHT 1.00
12 69008021160 special screw M5x12 6.00
13 69008021080 clip nut M5 6.00
14* 61314140200 REAR LIGHT SUPERDUKE SAE 1.00
15 60314047000 license plate lighting 1.00
16 61308024000 COVER NUMBER PLATE LIGHT 1.00
17 0081050121 EJOT PT screw K50x12 only for US and SixDays 6.00
18 0081050141 EJOT PT screw K50x14 2.00
19 0522040003 WASHER DIN522 A2K 4.3X20X1.25 2.00
20 61013013000 RUBBER BUSH 05 2.00
21 61308023000 NUMBER PLATE CARRIER LOW. PART 1.00
22 61308022000 NUMBER PLATE CARRIER UPP. PART 1.00

* = New part




